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2. Attempt any five parts, 10=2x5 .",{(/’.;uzélzaégc.éf -2 A
(i)  Define Consignee. -Jq}'&f()’ D)
(il  Define Consignment Account. -J_Qﬂf;wwa (i)
(i) Define Abnormal Loss = Jwﬂfuw’dwg (iii)
(iv) Define Partnership Deed. -40:4:}‘!.-)1;:4.5- (iv)
(v) Define Active Partner. -J A MoK (v)
(vi) Explain Realization Account. el (Vi)
(vii) Define Single Entry System. -404/'{,(("" AL (i)
(viii) Define Closing Statement of Affairs. = JqﬂJc.ub‘dtul”fd G (viii)
3. Attempt any five parts. 10=2x5 ~E e L2l 8 3 A
(i) Define Amortization. RSy A B PN (i
(i)  Define straight line method of Depreciation. BT S AT Vit O
(i)  State difference between Shareholder and Debenture holder. -q/uyd,‘ucm.&buu* (lin)
(v} Define Redeemable Debentures. LIS amn e (v
(v)  Define issue of Shares at Premium. -J_f..Q,JJLfd&{(.‘-'{I}}:’ v)
(vi)  Define with example “Non Trading Concer@is". LIS SN2 (vi)
(vii)  What are sources of Income of Non-trading goncerns? ?u_r:.uf &;Téb}ﬁu.ubfazlf/_} (ii)
(viif) What is meant by Honorarium? 7 Sestrla it (viii)
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NOTE: - Attempt any three questions. B0=20x3 E el et 3 o)
4. On 1st January 2017, the financial position of —Lf AN -ﬂ"'@y Blsiplie g1é > walo LS k’/ 2017 dn'e,! -4

Mr. Mohsin, who has not kept full double entry system, stood agioliows:-

= Rs.
Cash in hand pa ] 3450
Cash at Bank 8 55370
Stock =7 56900
Sundry Debtors S 32750
Furniture &) 2100
Sundry Creditors AP 34570

His financial position at the end of 2017 was as follows - LAV 2017 Jededidn

Rs,
Cash in hand (s 4500
Cash at Bank 58 24300
Stock AP 46800
Sundry Debtors S 46200
Furniture ) 2500
Sundry Creditors A 43500

-..(/?puwv‘,d’uw?m -J_.J/(J/{L.Q.’DU’)A-QJ.CJQ»(%.U 56000 &e&cﬁ&ﬂ%u 65000 3"-_.;;:4”(Lwdwbu
During the year he withdrew Rs.65000 from the business out of which Rs.56000 were spent in purchasing a car
for the business. Prepare his statement of profit and loss.
it 900 LG 42010 L iU L2100 AEUT1000 2 0100000 Bl st B UREAFE LT s
Sred AL 7500 (i) - Ll L L A1 3aog L A 200 (ii) ~LE AL L E 7200 () LGl )
S/ AmbUE17 200 LS ni A~ 500 = LRI E18nd L4 25 700 2010 52 10 & LR L S
5. Azzan Company Limited was registered with an authorised capital -.f’h..:éﬂuld}'d 2 UTTuT -é’
of ?3.100000 divided into 1000 shares of Rs.100 each. On January 1st, 2010, company issued 900 shares in the
(22 JJ! )



(2) - -~
following manner:- (i) 200 shares to directors for cash. (i) 200 shares to promoters against preliminary expenditure.
(iii) 500 shares to general public. On 10th January 2010, Company received applications from public for 700 shares,
500 shares were alloted and the excess applicaiton money of 200 shares was refunded. Prepare journal entries and
balance sheet.

. Following is the receipt and payment account of e 1¥ 201675 31 Eilsdrnzld ¥ Kozt ipa -6
Rehmat Club for the year ended 31st December, 2016:-

Dr. Rs.
Opening balance ﬂJU-’:' 8000
Subscription e 21500
Entrance fee AN 1300
Sale of oid magazines sy pler Flig 50
Interest on investment A 500
Other receipts Ul 800
Total S 32150
Cr. Rs.
Salaries P 3600
Telephone charges =gk 750
Insurance -5 1200
Misc. expenditure =t A3 480
Subscription of Newspaper A3ty 640
Purchase of sports material 220 uts 6000
Closing balance WeTiv2 19480
Total S 32150

N
&1/ 3000 23 Jr e tls cdts 25000 2 f &3, 5000 45/ 412 10,000 S =KSEA A 42015 25 31
On 31st December, 2015, balance of tnvesumtn&b1 9.000. furniture Rs.5000, bulilding Rs 25000,
subscription due Rs.3000. /7 A

10 500 s ala Sl ar 3 5 fmBislind 19}&}4,5') i) 2500 sizs ity JHanrd 2016 5 31

The balance as on 31st December, 2016 are, subscriptio ?e Rs.2500, - "/,5;"‘..-.&_")',047:({
depreciation furniture by 10% and building by 5 %, interest uwn investment Rs.500

Prepare income and expenditure account,
&10 1000 1S 1) 2000 Ll -ty 500 = Syt oL -,44..62.1.;.»)4;#*&.»».14, 100 S Sl gbsb T
430100 LG L g S et finrBers T00 ASiryts B0 Sl S FEIpIrss 6t Wbl IKE a2 500 P
—.—?u.dzv..‘d'_d'll«{ -f./d}‘:{.:—b)ab/‘cf 5% Js-"ré'(fi/( ~Lnfutd :,35:4 1000 shisziiss 200 t)?/i.v-{/’ir
-Q)?}"d’{_‘)”’wﬂq/Zy::gﬂfd:gw%’)l&@;ﬂ E— -d.vr‘)'.')b.‘.g/l_('z'n“

7. Haleemah Khan sent to Shazia Khan 100 radio sets for sale on consignment. The cost of each set is Rs.500.

She paid Rs.2000 for freight, Rs.1000 for insurance and Rs.500 cartage. Account sale was received showing that
80 sets were sold for Rs.700 each. The consignee incurred the following expenses. Clearing charges Rs.100,
rent Rs.200, and salesmen salaries Rs.1000. Consignee wlill receive her commission at the rate of § %. Of the
gross sale Consignee paid due amount through draft.
Required: Record the above transaction in the books of consignor and ascertain profit on consignment.
~Flrie s 5000 S Fekt ST e S 10 AIaSE S ASe s 75000/ St fil sy 2002 Sk -8
8. On 1st June 2002, Mr. Abid purchased a b SO Ip &L ihf pMe B S W L e K
machinery for Rs.75000. Estimated life of machine is 10 years. After which its scrap value will be Rs.5000 only,
Find out the annual depreciation according to fixed instaiment method and prepare the machinery account for
first four years.
36 swgity (i) e S FurSEol? () = Blailogle SEbaAS . 2018 Gt L pbmol? -9
420168 L3 4N e sulj; 20 SILEL st M4 22 65000/ Bl  fnaclewm (i) -Enzil
&1 20000/ &t 22 15000/~ Lo\ e 3Pl
(A ,..f_.r/‘,,:.-tfrgw;n&’ <tgsth 151822 50000/~ Tdic cpiintns
9. Nauman and Tahir formed a partnership on 1st January 2016. They agreed that out of profits,
(i) Nauman should receive salary of Rs.500 per month. (i) Interest on capital should be allowed at 8 % p.a.
(iii) Remaining profits will be divided equally. Nouman brings a capital of Rs.65000/- and Tahir Rs.120000/- on
1st January 2016. During the year their drawings wera:- Nouman Rs.15000/- and Tahir Rs.20000/-
Profit before above noted expenses were Rs 50000.
Required: Prepare profit and loss account and capital accounts of the partners.
82-2018(A)-3500 (MULTAN)
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PRINCIPLES OF ACCOUNTING PAPER-Il (COMMERCE GROUP) (s Ur¥) 1w - oy BswisTey
(NEW SCHEME) (F £)
TIME ALLOWED: 30 Minutes =30 = =5
MAXIMUM MARKS: 20 OBJECTIVE (%= 20= AF

St L );L};}””d"Ly'ﬂyllégﬁ u:;béé;&b&dlrﬁ{géﬁ}'f. -gﬁé{_: D s C.B.A u:a}li’...}ﬁ:k&dlr/: -7
$5 42 -fz.ykxdf_}df;ﬂ@a‘\fll_ﬁ.é .{J’/’b -fnzﬂwvlzuﬁ;ﬁ:.u‘sf}_& Jo¥ L }..f},fu,;uu;g_{: -
Note: you have four choices for each objective type question as A, B, C and D. The choice -Q/:.J?::.:. Uiy~
which you think is correct, fill that bubble In front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbloes will result In zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 -1 A
(1) In Single Entry System, only are opened. - QL/ S e ST (1
(A) Personal accounts .:.l,;:lfd‘"’ (B) Real accounts =L =W
(C) Nominal accounts .:.t(.-l.ﬂ?ti (D) Rea! and Nominal accounts = =W (5 il 32
(2) Credit sale can be obtained by preparing:- -‘;.J‘\,J(PLJ:(_: =S Al (2)
(A) Cash Book .(u*-‘-( (B) Statement of affairs o lbb-sls®s
(C) Debtor account :lfmq: ) Creditor acoount:ujbc}f
(3) In appearance, the statement of affairs is sirm@' T -.T_C'LML‘-—.-. Bbms e A:U!_'.f’ (3)
(A) Profit & loss account =W LB (B)éﬁhnce sheet L2 %
(C) Bank statement s ¥_&x (D) Tri(@hnce Wa ¥
(4) Credit purchase can be ascertained by prepanng- O -?Ccl.av_.ngl;b’g.éw' (4)
(A) Debtor account :U’o’mq: (B) Creditor acc@n( .-lft’mg':’
(C) Sales account =34 =l (D) Purchase acc% s lnd

(5) Receipt and payment account shows:- R - r&w.-u’m,}.'-’uwuzm (5)
(A) Debit and credit balance of ledgers _/"‘1".'.,5/’3:!.:—,.. [ ¥ J/.‘ﬁ (B)ébomee and expenditures f:_lgl)'ulux'ﬂ

(C) Cash receipts and payments JUsZ sl sl s 5 (D) Assets and liabilities Ulisoisieb2e)
(8) Subscription received in advance is:- -.;.u-'-:vhi. lgyvf:utu'.'m_‘._t (6)
(A) Income T (B) An expense .7 (C) Liability ($/; (D) An asset 2@/
{7) Non-profit making organizations prepare it to B L JptniS e e i Pt (7)
determine surplus or deficit;-
(A) Trading account =W (@ (B) Profit & loss account =W ¥uLsh2
(C) Receipts and payments account = 5UsE bl (D) Income and expenditure account =4 ¢ s’.;sg')'Js'J.-T
8) The amount paid to a person who is invited 1o e diy” n‘_-_Jt,Jd? '.v'.rfu":’.':'q_n‘/’.eu’:,—’yu’-‘:f- (8}
deliver lecturas in a club |s known as:-
(A) Salary o5 (B) Wages &2/ (C) Honorarium - i (D) Income (.7
9) The Consignee is:- —IS (9)
(A) Principal 0L (B) Agent < (C) Buyer g # (D) Seller ,¥=3./}
10) In case of del creder commission, the liability for _J;rdm.‘.)J ﬁdthw___,!.;.:.u‘d},"{é‘/-.,f 3 (10)
bad debts is on:-
(A) Consignor ¢}t~ (B) Consignee (.)\.>» (C)Customer ;. {¥ (D) Notary Public ;.27
11) A company is owned by:- -.,E.T_:f.yﬁl..ig;'vr (11)
(A) Directors 24713 (B) Shareholders o/ae (C) Promoters ilg (D) Underwriters 5% L4

4 é‘ JJ’)



(2)

(12) A company created by the grant of Royal Charter is called:- e Oelfelastr L (12)

(A) Chartered Company &"v‘y (B) Statutory Company &r dI5
(C) Company limited by guarantee d‘v%lsd/b.as.&&‘s}! (D) Company limited by shares &f}l’dﬂus.fpu/f

{13) When shares are issued at a price less than PO 300 s le_olfMll_pECd&{.:—f e (13)

the face value, itis called issue of shares at:-

(A) Par sd M (B) Premium ¢=4wli (C) Discount sed b (D) Book value 420"

(14) Capital with which a company is registered is called:- et e dnFelam  (19)
(A) Authorized capital L\ %5 (B) Issued capital 42420/
(C) Paid up capital . »200 (D) Called up capital | 25

(15) The debenture which do not carry any charge upon -ugLL!fu 'ux;aluslrléﬁ;.’.éggm&f.:«ﬁél (15)

the assets of the company are called:-

(A) Naked debenture = K701/ (B) Registered debenture = &7},
(C) Mortgage debenture = &3/ (D) Redeemable debenture = K757l b6

(16) The partnership act is.- e SLipyde (16)
(A) 1932 (B) 1912 (C) 1962 (D) 1984

(17) The benefit of the good name or reputation of -‘"-t'ut'c) -+r/J‘Le.ythélgdm"g{bpzb’ﬂu'b‘u (17)

a business is called:- Oé/& ‘

(A) Liability §/s.03 (B) Goodwill &1 /\9/@:) Amortization ¢ZFEA (D) Depreciation (3

(18) Under straight line method, depreciation is calculat - - GQJ(PJVA&V)JZ-&)LQM/'" (18)
(A) Original cost £/A" (B) Written down value 44581‘6,
(C) Scrap value 422" (D) Markefvalue ¢/48005

(19) Depreciation is charged on:- ’O,f. -1_1/.63\'&3?}” & (19)
(A) Fixed assets only s bstisd (B) Current assets only y=-le22lsle
(C)BothAandB ;B .t A U (D) Floating assets only ¢.=lk2tifsd

(20) The decrease in the value of intangible assets is known as:- -G-JMJ‘;/J;J-’—'# ?’Jfff (20)

(A) Amortization 70l (B)Appreciation Sl (C) Depreciation u‘:r) (D) Depletion «,(,6.23

82(0Obj)-2018(A)-3500 (MULTAN)
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NOTE: - Write same question number .{.Zvau:q,.{.glr..fv‘!g‘; C'/J)/.)’ZJ)‘A)J‘M,{QKQ‘JZ -9
and its part number on answer book, as given in the question paper.
SECTION-I s«

2. Attempt any six parts. 12=2x6 ..’.{(/’:.ywé'z:ge.df -2/
() What is meant by Pure Single Entry Accounting System? St e i Bgpire )
(ii) Define the term "Margin". LB AT Tt ()
(i) Whatls the difference between Statement of Affairs and Balance Sheet? e S RLES Lot L e tos (il
(iv)  Whatis the Conversion Method of Single Entry System LIPS SRR (v)
into Double Entry System?
(v) What is Consignment Outward? ‘-'-r-"/t"c'—-"/dkd’,o (v)
(vi)  Who is Consignor? LSy )
(vii)  What is meant by Overriding Commission? tes e AR (vil)
(vii)  What are the Direct Expenses in Consignment? e Ve s piPartine b b (Vi)
() What is Specific Reserve? ) Sy (%)
3. Attempt any six parts. 12=2x6 ~Efe i lizig e 8 30y
(i)  Whatis Partnership? ferlaaliz )
(i)  Who is Junior Partner? Se-brglwZr (i)
(iii) Define Dissolution by Agreement. -J.‘d._i/}JJU.C,;uK.;‘_Aqu (i)
(iv)  Define Sleeping Partner. S Sw oS (iv)
(v)  What do you know about Fixed Partnership? WL eV AL 2123 (V)
(vi)  Define Non-Trading Concerns. LB ASo IS (i)
(vii)  Define Deficit, LI B ANAE (i)
(vill)  What are usual sources of Income In Non-Trading Concerns? ?ng_ns[wfguséd:”g:uum&@! (viii)
(ix)  What is treatment of Endowment fund in Non-Trading Concerns? Yo A AW B L UGS (i)
4. Attempt any six parts. 12=2x6 ~Efe Lz 8 4 )
0} Write four advantages of Joint Stock Company, -L{/{f:’l;‘/gé E{,L/f e )
(i) What is Reserve Capital? Yo\ riys ii)
(i) Define Articles of Asscciation. -Qf_é‘/’urjyir):ll}.::;}r (i
(iv)  Write the difference between Professional promoters and LN OAL 2y Bz ynzs (V)
Part-time pormoters.
(v) What are Irredeemable Debentures? Sl wliodasmn et (v)
(vi)  Write the causes of Depreciation. LI INAL S (i)
(vil)  What is Accumulated Depreciation? Tl e J”)Jff (vit)
(vii) Define Depletion. LIS “enlid " (vil)
(ix)  Write the difference between Straight Line Method LI POAREIL Lo B SL S0 0B ()

and Diminishing Balance Method.
€2 50



(2)

SECTION-Il (1

NOTE: - Attempt any three questlons. 24=8x3 .é;f:.uz&.:.umf;.éf -

&35 15000/~ i t¥e Ko 1) 13750/ Liuml b WlsPisba iM i dss 75000/~ f 42018 S s
5. Mr. Asjad started business with capital of Rs.75000/- -4 stz,J,.JodLwa #2015 =5 31 L6424 >
on 1st January 2015. During the year he withdrew Rs.13750/- and introduced fresh capital of Rs.15000/-. His
financial position on 31st December 2015, was as follows:-

Rs.
Cash In hand FA 500
Bank overdraft ORIV PP 11500
Debtors Aaz s 2000
Creditors uuua:-’ 4200
Machinery S 30000
Fumiture &3 7500

LT 12015 S i e DOrsgard B izt TS Pr3 10 L E IS
He charged depreciation at 10 % on machinery and fumniture and create a 5 % provision on debtors.
Required:- Calculate his profitloss for the year ended 31st December 2015.

LS e Lt AP ian 3 10 SFL 3 SN Coton ! Worty nu$a e e FAEY 8 L)k
6. A firm purchased a building costing Rs.800000/- and declded to depreciate at 10 % per annum under
Reducing Balance Method. Prepare buildigg account for first four years.

._;:Ju,fu,)‘,:;.u 18000/~ w&ffgvmdr._fm_(/y - bzt Fd 32 1000/~ s3eZibi- K5, 20000/ S e
I w’.u’ ¥ Ul Sy Al OB !@év -ﬁ-;.f.;?’/ﬂd 8 FE — 4 800/~ 2 NLLER
7. Subhan sent goods at consignment to Shuja costing 90000/- Expenseas incurred by Subhan Rs. 1000/-.
Subhan received account sale showing that half of consigriment was sold for Rs.18000/-. Expenses paid by
Shuja were Rs.800/-. His commission was 8 % on sales::
Required:- Give journal entries in the books of Subhan and a%orepare consignment account,

b S i Fo sy 5000 Bt s ¥ () LTk IJJM;..;_H.:.uf ~SPEG ol syt 2ES 42010 S5k

4+ 50000/~ ml.urd_-&’ff 2010 Giitf B fudB Ot () S ibrsie oL s dg g2t (i)
4.[4)!»”‘(5')“:) 200/- &'-‘_ut,m + 15000/- a':‘_ “S’JW'A} -eﬂ{ruﬂl.ﬁ&’f »2010 &Jt‘fé—gjly,".ﬂ

L r/».,uuwé"f"’ Y -V(‘y&.u 50000/~ g-%cublﬁﬂgbu Y

8. Kashif and Javed formed a partnership on January 1st, 2010. They agreed that out of profits:- (i) Kashif should

received salary of Rs.500/- per month. (ii) Interest on capital should be allowed at 6 % per annum.
(iii) Raaming profit be divided equally. Kashif brings a capital of Rs.50000/- on January 1st, 2010,
but Javed brings Rs.100000/- on March 1st, 2010 During the year drawings were: Kashif Rs.15000/-
and Javed Rs.200/- Profit before the above expenses was Rs.50000/-

Requried:- Prepare proftit and loss appropriation account,

._/'fJ)J‘/-I -g[.ndr‘!miju‘/{ JAvJ /él&-(ﬁr -Effyfd?u)’vlrﬂf’;'fitt/byfv TLW&:)G/
LIRSS g Skt L TN E JE S Al GBS &£ Lo T TS

9. Irfan and company Limited with capital of Rs.800000/- divided in 8000 shares of Rs.100 each. The company Issued

5000 shares. Application of 6000 shares were recelved. No allotment was made to 1000 application and their

application money was refunded. 5000 share alloted to applicants. Pass journal entries and prepare balance sheet.

82-2018(A)- | C (MULTAN)
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Paper Code 2018 (A) sl

Number: 8701 CUrsb U D N - g Iacsn
PRINCIPLES OF ACCOUNTING PAPER-Il (COMMERCE GROUP) (Y’f JrE) s o 24 .,ém_ﬁd?{
(OLD SCHEME) (A )
TIME ALLOWED: 20 Minutes L2220 = =0
MAXIMUM MARKS: 15 OBJECTIVE (/e 15 = A¥
Aol L SASiiu38 0L R e S Wi s Ve Mrpgd¥diz £ LD s C B A M2l Ly s
{4~V -ka&:gﬁ/M&g»ﬂfwi .'()J/'b -fnnjhli.,.lkndg‘;_'uﬂfw Ja¥ : J'_)'Ju:}buyeu_ﬁ -
Note: you have four choices for each objective type question as A, B, C and D. The choice _;{JZJ'Z{.;UV
which you think is correct, fill that bubble in front of that question numbar. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.,
Q.No.1 -1 A
(1) Abnormal loss occurs due to- - rxc’-,c..?,;! T = § Pt (1)
(A) Accident 4:b (B) Theft 11 (C) Fire JT (D) All of these (L
(2) Single Entry System is not possible for-- e SR BRI T (2)
(A) Sole tradership & L4 s/KSs Mt (B) Partnership & L (Sbati?
(C) Joint Stock Company .;Lz:&‘:r,t/.r o (D) None of these a8 /= 2wl
(3) Balance sheet is prepared under-- Q. el east (3)
(A) Single Entry System u:&).,wrtﬁg A@” (B) Double Entry System _=rWdmaloe 1s
(C)BothAand B LU Bl A - (D) None of these U570/ owi
(4) For a business depreciation is:- :4, L _.;.J»v"é. Fayey (4)
(A) Income waT (B) Expense &7 (Cypsset ¢ (D) Liability =21s
(5) The tangible asset is a:- g ) AR LkE (5)
(A) Copyright =s,3¥ (B) Goodwill 1 {C) Tra&&v;'egk JE3A (D) Machinery =
(6) The audit of company's accounts is:- ), -q_m(w'_—,:!:bfﬁf (6)
(A) Optional S/ (B) Occasional Aaﬁfr (C) Compulso&‘?f}u (D) None of these uﬁ’o’diﬁ-_ U]
(7) Legal basic documents of a public company are:- e It S (SIS 04
(A) Two s (B) Three & (C) Four (D) Five &\
(8) Del credere commission is calculated on:- -QJgdcﬁJﬂé/’JS (8)
(A) Total sale ;=44 F (B) Cash sale ;=55 (C) Credit sale 2231/ (D) None of these U5 /e 2w
(9) The person who sends his goods to agent for sale against = qﬁugé;z:fg.agé{.f‘-‘;’g:zj’:. (8)
commission is called:-
(A) Consignor J» (B) Buyer i/ (C) Seller sifzs,} (D) Agent L1
(10) The merger of two or more firms is called:- -4.&'118?&:!51):‘)»&)5»5» (10)
(A) Dissolution _#C€/+.8 (B) Liquidation Uz 3Lt  (C) Amaigamation t/_{i/i (D) Conversion (f 475/ s.¥
(11) A business running in loss generellay have no:- IRV - 4 J:Z/ngirfl‘. Sl s USSR s (11)
(A) Assets =l2el (B) Creditors +i#.77  (C) Debtors %> (D) Goodwill 1
(12) When amalgamation takes place a new partnership deed is:- ~ b .41,-37/‘&:?‘4:"(&;"!4:/(.,-3 (12)
(A) Necessary (S5~ (B) Optional .4 (C) Conventional 3= (D) Not necessary ($.~~
(13) Dividend can be paid out of:- < Fedet ____ Bude>  (13)
(A) Reserve 1.z (B) Provision uZs; (C) Specific reserve 2. (D) None of these u.’:’;ﬂdfc_gﬂol
(14) Sale of old Newspapers Is treated as:- -q.rtfgCa’/_-—‘:}J;'/wé_.z (14)
(A) Assets =lae! (B) Expense &7 (C) Income T (D) Liability =t
{15) Becoming of an asset out of date is termed as:- = rll.fu,-m;r)b’:wuj (15)

(A) Depletion tx7/iJi*1  (B) Amortization tx7% (C) Obsolescence tesfi= (D) None of these LaiT e 2w

82(0bj)-2018(A)- [ Op (MULTAN)
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